JU-A : 2021-22(Set-F)

Part A : Short Syllabus

| oI AfTTS N WIITON & SIANHIF NLT (I T=HHB JAqo12te (1 point)
@ Sifow?

[P-2.1, JU-Af : 2021-22]
() PV=RT

PV =53S

® Tyr-l- 57T

BE i

Explanation:

[S[@]WhY| Faeria AfR<S SEed 8 SHN@R N4F F:
TV =K = &<

2. a6 EFFOaetad FITHN W2 2.5| IFB Nod OorNga o (1 point)

TS BT 3000 O JRTFA| AFGIE6F HIENAIE G AfS Tl
AR AT T Af = e S Fa0o 203?

[P-2.1, JU-Af : 2021-22]
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(24017
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(PR N

Explanation:

1<=QQ'Q - 2 [Q, = whifftw o = qw wr, Q, = <o or
2 ¥l
300 300
2! s pr— --- == — =
=25=30 L W=321=120]

3. afB TS 15W 97 10 f6 LED T1fS A1TS 6 T701 Gt | T3 =1 (1 point)
Ffemm 97

[’-2.3, JU-Af : 2021-22]

(15 KWh
" 150 KWh



1 900 KWh

® FRIMGE Y

Explanation:

IO s %, W = EX v

15x10x6 Wh = :
=—= — E t

4 u\gﬁ‘s_ G EEEGRIBIGEGEER W_ (1 point)

[P-2.3, JU-Ag : 2021-22]

Y FEY g9 AT (o6
@ (S FTT BT T I AT F1 T

) YT ICAT I WG B, AP TN A
(P62 Y

Explanation:

SIOWhY| SR 3 uv w@ i, T ofer &4]IR T Fro
R A |

5. (BTN EIA B2 41 STONHB WTATS AT OATIATOND HleT WIterg (1 point)
JNJO! AfATS N TONITF AR CEIE

[P-2.7, JU-Ag : 2021-22]

® IIfSoE
) AR
O (IARE =Yy

Explanation:

[SI@Iwhy] @I B M2 9l Srolfie SAEE o0 SAeTetT
T AR Ool AFISEHT oIS AT HIOvI @1 2 |

gt .

6. ImmmﬂﬁﬁﬁﬁﬁmWymW§mW%ﬂaaﬁm (1 point)

GG 51T TCEAT | TTIT0 WA © 5000 A T, 1A9A {fo Sosge
+fga g fer=-

[P-2.7, JU-Ag : 2021-22]
O

2z



() 9
Ay

(A107 %) /(2 x 107%)

®5,x10°"

z x 1072

Explanation:

AD

SI®IWhY| s 2 & Segret «ift7 739 = (oI T, Ax ===
_ Ay = 5000 x 10" xy_Syx 10’

xx 107 x x 107

7. AIBNITTA FIHTFS 6.31 eV ICA 97 6~ F=NE FO Hz? (1 point)
[P-2.8, JU-AF : 2021-22]

® 631 x16x1019
6.63 x 103

6.63 x 10~
(6.31 x 1.6 x 10~ )

1.6 x 10~
6.31 % 6.63 x 10~

U (PGE A

Explanation:

FirES, W, = hiy

-19
_Wo_631x1.6x 1077 1)y 65 1077]

-
seesms NN E—

h 6.63 x 107>

8. 1 amu OUAG AN *If @ (S0 Fral AFT F41 T? (1 point)
[P-2.8, JU-AF : 2021-22]

11934 ]

@ 934 MeV
934 eV
934 Kg

Explanation:



| amu=1.67 x 10" kg
. TGN *If, E = mc? = 1.67 x 1077 x (3 x 10°)’

-11
1503 % 107 J= -'—?%3 < (1)9,3- MeV =939.375 MeV~ 934 MeV
LO X

9. (AIQrg AT TITAG (TN {AHE ANEH FLA? (1 point)

|P-2.10, JU-Ap : 2021-22]

® 5 (A B
O %= T (e 3= [
1T At afS
Lo e (e g e

Explanation:

[STIWhY| GefFE= AC @tF DC (S FHoSd Il |

10. 9B BRIGoIad NIAE WEATIIR! p-Br2roa 30, (N6 (N (1 point)
BIRISTSBa® 32

[P-2.10, JU-Ag : 2021-22]
) FET
" PNP
® BT

SN oot

Explanation:

HOR

Transistor

BJT FET

11. 389 (RFTCGIANI HLYIF RN 4o 2 (1 point)

|P-2.10, JU-Ag : 2021-22]

@ 001110111001
(100110110011
(100110111100
110011011001

Explanation:



™ —_— e w— ——

SO whY (31':",9)]5=(953)1.:,=(00111011"‘1001)2

12. ATTEF LIS Nl (FN6? L point

[P-2.9, JU-Af : 2021-22]
._ ML — 1T —1
® 7!
O ML*T?
O MLT !

Explanation:

" iy Y e—

NET &9, h = 6.63 X 107 Js

q953: Js = kgm’s™
@ [ML*T ']

. s |
B a7y —2i+4j+ kTWOEQ@ V - 7 92 (1 point)

[P-1.2, JU-Ag : 2021-22]
o
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oF’

Explanation:

- . o ° O A . #
(O + 2 +2 k| (xi+y]+zk)
SIBWw] V. (axl 570 52 )( Y]
o o 0
— + — +—(Z
o (x) Sy (¥) 52()
=1+1+1=3
14'Ex§:§xfiﬁﬂmﬂm@m‘fﬁ? (1 point)
[’-1.2, JU-Ag : 2021-22]

]y ey o
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Explanation:

N e S - -
AxB=-Bx A
e e g e 26T el @1 180° |

15. fIB1 TFH T (P ICAd JIACT? (1 point)

[P-2.9, JU-Ag : 2021-22]

® 7 (NTFIT
) ofge EEIE

3ot 5 27 V< Mo I1 & |

16. ﬂﬁﬂmﬁ?@?ﬁz kg | qﬁwm.ﬂam 1 ml ﬁl%f}mds_l (1 point)
(HITTF (FTST LA STTo*TTe T 20?

[P-1.4, JU-Af : 2021-22]

®25)
(1251
(5017
10017

Explanation:

.@IWhﬂ Ek=%lm2 %mr2m2=%x I x1*x52=25]

17. 50 N @TTIND IFI0 THLS 6 m STEOTT GBI G~T IH6 76 (1 point)
I FA T | AfB 70 J *IfF TT T | AATTF© *IfGgFa AfTu= T2

[P-1.5, JU-Ap : 2021-22]
® 230]
20017
C13001]
1007

Explanation:



SIOIWhY] 7% w93 W3z =¥, W = Fh =50 x 6 =300 J
-, F953%S #{& = 300 — 70 =230 J

18. Wﬁaﬁwm_ (1 point)

[P-1.4, JU-Ap : 2021-22]
S

® <=y

TS F

Explanation:

[SIEIWhY] T TR ¢ 9 @ TN TS (@it 70 90°
ok TS, W = FS c0s90° = 0

E 4

19. orEfTHFIe QT FATO STa (AT M FOGT FATO Z(J? (1 point)
[P-1.8, JU-Ag : 2021-22]
02
@
1R
U 1/4

Explanation:

[SIBIWhY] Tec/L :’(’r) = ],= (L) xL.—(,D <L, =4L

l

Aspect Special | L,=n’xL, = 22 x L =4L

20. YIS AF0 NS G (MFALSE I $O? (1 point)
[P-1.8, JU-Af : 2021-22]
) 1Hz
() 2Hz
®(0H;
O =S

Explanation:

[S[@IWhY] == g =0, T =9, =0

21. 97° C STANTATH {6 WFTOH AIN A oG F92 (1 point)



|P-1.10, JU-Ag : 2021-22]

® 1242 x 1072
) 6.21 x 10724

1,242 x 1072y
) 0.621 x 1017

Explanation:

E,=2 KT =2x%x 138 x 107 x 300

=12.42 x 1073 ]

22. 379@ AN (S ST O HTA? (1 point)
[P-1.10, JU-Af : 2021-22]
°) U E I
 Eerft
® =R FT
Explanation:

SI®]WhY| =& Ir==bie I 8 HEETE @ (W 5 9| fFE
G BT (N0 B |

23. P (NI AANPCO2 LT A HfTH1 FRTT (FHi6 UAfEe (1 point)
2ATCH?

[C-1.2, JU-Af : 2021-22]
A

® S

B ram

Explanation:

W-‘Flwﬁﬁmwmw 5 @ GG |
A, H @ (AGE A A i 57 G 2ARwIgre 2eae AReR |

24. 30° OTATHIY (FIHN AJCTT AITOI 5.0 g/L A 400mL TG BALTFw (1 pont)
AN ETHCR?

[C-1.2, JU-AF : 2021-22]



L 4g
. 3g
& 2g

50

Explanation:

SERERIRREEISE
m WhY] GR7e! =
BT 7@ BTSSR
8= W=5x0.04=2g
0.4
25. Cu?t WININE BATT TS NH,OH BIT (15T FATA T 9 3 TH2 (1 point)
[C-1.2, JU-AE : 2021-22]
& 571"551?[
- R

Explanation:

[SI®]Why] CuSO, + NH,OH — CuSO,.Cu(OH), + (NHy); SOq
CuSO,.Cu(OH), +(NH,),S0,+NH,0H — [Cu(NH;),]SO, + H,0

. LCCA SR A (1) STETCFs (S5 =)
26. (M AfFHTTE Fo~ (T FRONYTHT T TIA FATHA? (1 point)
[C-1.2, JU-A : 2021-22]
O SfESEeT
O e
® oy
" (ERINICeIanSs

Explanation:

SI@why] IR7 ol Rersad @ Pm, WP @@em,

TS, TIPS, BIRE [EHH, 2AfNTRE, @GR e 29)in
T 91 T | FTHoA AToq odel AR [ATi€ 9193 24 |

27 |Ar]3d1%4s BTEAD G NI T (1 point)

i Cutt O
ii. Zn2" S



iii. Fe* W~
fAtea @Rfe sfés?
[C-1.3, JU-Ag : 2021-22]
®;3ii
i 8 i
i giii
i @ i

Explanation:

* Cu' 9 G 3@ I — i
o 7n*" Q@ (6 TG JAN — o
e Fe’* @ (W6 3G Jet — 2816

28. (PG SONNS (FIAIRG 9T (T O? (1 point)
[C-1.3, JU-Ag : 2021-22]
O ca,
) SnCl,
@® SnCl,

) FeCl,

Explanation:

SI@WhY| * SnCl, — S1f{T @@z
* SnCl, — SBINM @30 * CCly— I (CQISIAIZG
* FeCl, - (4l @EI3T

29. [Fe(CN)g]* SITNTRA (SR HANFA SFAT (FI6? (1 point)
[C-1.3, JU-Af : 2021-22]
) gp3
t:;5p3d
[1;5p3d2

® dZ 5133

Explanation:



Fez+ — l_s.2 252 2p5 3 g2 jpﬁ 3d6 450 4p°
3d - —— 4s 4px 4p}' 4pz

t 1 K
CNCN CNCNCN CI:I}

d*sp?

- P — g

30. TN fRIHNIE 0T (T99 1Y S TH, S TN OIthd (1 point)
CITHIAT 40 AOIHT TG I AMF | 92 HO[TI S (6 It

(C-1.4, JU-Ag : 2021-22]
L gNF HAORS

L YN[ AR

® 1T oS

o & CIEES

Explanation:

@L@@Iﬁ’iﬁimﬁﬁﬁ CFG ST TR 0
SAM eere Rome Rt ot 3 o1 ae W a1 7-

ASRE T | @Y RiGae owea R[RfTae 79 sweEs s Qo 11w |
@T9: Mn*" v3fG 9Bt 91 T-2o9T |

31. 1M NaOH B9 Pl a9 TR F92 (1 point)
[C-1.4, JU-Ap : 2021-22]
SR
12
13
® 14

Explanation:

. [ ]

(D pOH = —log [OH]=-1log (1)=0

pH =14 - 0 =14
32. (MRA YN 8 HHAN LA (FIN YT GATAIN? (1 point)
[C-1.5, JU-Ap : 2021-22]
T T
® wify



NGy T

SIEIWhY] ez 3% T 8 e Sy F |
33. fSHSME (SN ATH? (1 point)

[C-1.5, JU-Ag : 2021-22]
® 6-10% CH,COCH,
" 6-10% C,H50H
" 6-10% CH;COCH;

" 6-10% CH3CHO

Explanation:

[S[@]wh] e
IF ” [entees e ¥ (6-10%) T Ja9/ AR
SR o B wERmEe (4-10%)

et TSl [SICCeTa <1 TRTICe=H 6 4% CH;COOH 739 |
Wmlmwwﬁww 4% CH,COOH & |

l_ e YN TN Qi i 4% CH;COOH Wl-
.ﬁ"'ﬁ? S e STt TRt T |
i SQRe A TROCONH @@l Sl
OISR | 49, CH,COOH &=t B
34. IANSLA CO, AF AR F92 (1 point)
[C-2.1, JU-Ag : 2021-22]
1 0.3%
® 0.03%
) 0.003%

() 3%

Explanation:



| ISR G CARIPTIR 5

| e 0.80 —
TRA TIR-THIRG 0.033 .
e ST He (0.15-1.5%)
S AP (0.80%) ~ifF=rer Teetw Q@

35. 0.95 atm BITH 25°C A0 STITTHE WO 40L XT O@ OTANIHIN 1.0 atm (1 point)
BITH T E THON F9 2037

[C-2.1, JU-Ag : 2021-22]
Q3L

() 038L

0389 L

@®33L

Explanation:

S{@®)why| P,V, =P,V, :V2=&51x4__0_=- 3.8

@IQWW4OLWWWWW|

36. (P AR IS AMNG DO T AN T FATH? (1 point)
i (GAEF
ii. O] TP
iii. (OO Ep N AP
fAtea (e J3sF?
[C-2.1, JU-AF : 2021-22]
8
i B i
i g
® i 3iii

Explanation:

[SI®]Why]~ifra T4y te7 @ Site “wtef Boify At ERE @
fafeq ag@M qaige SRTem U9 T &9 @ e qmid o
(T | 01 DO @ AT ST 17 1 DO 97 @Al 4.6 mg/L 97
CITeT AT fae =3

37. SATP (9 STICHE CNIET9 SISO $© [Fpra? (1 point)




[C-2.1, JU-AF : 2021-22]

() 224L
() 24.789L
® 24 414L
()24 4L

IS[@]WhY| ¢ STP @ Gl wie = 22.4 L
* SATP (@ (T4F TS = 24.780 .
* NTP (S CIFTH SR = 24.04 L

38. (I(B (G 5T N2 (1 point)
[C-2.2, JU-AF : 2021-22]
O cH,
) HCHO
® HCN
' CH;0H

Explanation:

S[@Why] HCN uft ste @itst | w1 @ 7EiTe fmr wge
[T aﬁs_r_?_m G _c_rfrir: NH,CNO, NaHCO;, H,CO,, KCN Zwjifer |

e R G . e —

39. fRTER (FIRIC RTASLGrwIRA? (1 point)
[C-2.2, JU-AF : 2021-22]
@® AlCI;
) NH4
" R-OH

Explanation:



T o ROIOQITIR (SBE AR

R il EL.

AE GRS SO; |
RIA GIRFIAIRS J BFy
" @R @ERT BeCl,
AT GIREFEIRG | AICI;

TR @ERS FeCl,
b @RI T RCOCI

P T 1 =0

(1 point)
[C-2.1, JU-Ap : 2021-22]
o,
7 COo
® SO,
80,

Explanation:

STV et < crvl oew -
. wﬁw W‘ﬁ‘ i
et W T I 2 e o
"ﬂ%@m =, C’:ﬂ?lT, 50,, CO,, SO;, NO,, H,SO4, N,Os,
CO, NH;, HaS, HNO; I*91, PANSs

41.

A GiGT|

) e

® FIEfoRRT

- FrfEfEs At

Explanation:

R — COONa + NaOH 2% A + NayCO; , A G5B 52

[C-2.2, JU-AF : 2021-22]

(1 point)



S[@]whny| -sidifgrer= e
R—-COONa +Na(OH).CaO - R-H + Na,CO,
ST

4. YARIRIGS TSR *RGFaCT - (1 point)

i. Na 419 1350 IH
ii. PCl; THIGIN XN
iii. STesa s aPo arage T

fNtoa (= s
[C-2.2, JU-Af : 2021-22]
i
i 8 i
i Qi
®;igiii

Explanation:

PCls #t:

R-OH+PCls — R—CI+POCI; + HCl

HCI + NH; — NH,CI] (A cqrat)

FTIET 41 %1 R-OH + 2Na — R—ONa +H, 1

43. 250 mL 0.1M H,SO,4 AICT FO ATV H,S0, ATR? (1 point)
[C-2.3, JU-Ap : 2021-22]
®245¢
() 2.90 gm
) 9.80 gm

) 4.90 gm

Explanation:

L

W
S why = VS = W=98x025x0.1=W=245g

44. f5fR @ SETITOT XCAAI- (1 point)
[C-2.4,, JU-Ap : 2021-22]
O ofee e
2P ZAY AR



® Tireq ARl
AU VARV EI )

Explanation:

[SI@]WhY] e siReer fais:

. reﬁwarw — i * = (CH;CH,0H)
* IR GLFHIRS (CCly) * FIATET (CHCL,)

* T (ERE) J394 (C),H,0,,)  * e e, 1o, I

45 1 - 1 poi
: k.ﬂaﬁmmw(k 21 i 22)ﬂnﬁ7@%ﬁﬂﬁwmm=m? (1 pornt)

[M-1.1, JU-AF : 2021-22]
(2

® 31 .17
2

I _. 1

O 3415
2

Explanation:

SGww| |lf._z1 k'fz|=0 = (k—1)(k—2)—{-2x(~2)} =0

- kK-2k-k+2-2=0 =K -31-2=0 _>3i2\@

46. 123 01 (1 point)
A=]14 5 6 | 9498 B=| 2 3| XTI A+B=?
7 8 9 4 5

[M-1.1, JU-Ag : 2021-22]

Explanation:



SIOIWhY] A @7 W1 3 x 3 @R B @9 @ 3 x 2 | (@R Tl
AN 7 ©1Z Q@5 T A |

47. (1 point)

RIS a TN 2 T, k 99 NN F97?

W -

1
2
4

s L

[M-1.1, JU-AF : 2021-22]

Explanation:

1 1 1|

S@®wh]|1 2 3[=2=102k-12)-1(k-3)+1(4-2)=2
1 4 k

=2k-12-k+3+2=2 =k=9

48. 3x+4y+2=0 A3 3x+4y+5=0 STNTG AT ATTAUNZLNG NGTIol jag o2 (1 point)
[M-1.3, JU-Ag : 2021-22]
® 3/5
) 3/25
Q3
) 5/3

Explanation:

SIIwhY| &y = |—=2=%_|=3
[SI®]why] =9 N

49. (-8,3) A2 (2,1) [A=75MA SAF=TCHAT (11,-1) G2 (k,0) T A SIgecaerg (1 point)
SANIEAE I k 49 F92 H

[M-1.3, JU-Af : 2021-22]
@
5
O 3
8

Explanation:



STQIWh] FTrTe1 20t Bt o 2, 5= = -

-2_ | | 12
) —— — = =
0 K-11 = 2k+22=10 =k >

50. x- PF G372 (2,2) 397 20 (5,k) =307 g ST 20 kK 99 TN 92
[M-1.3, JU-Ag : 2021-22]

=6

(1 point)

O 4
13
O 4

7
o
£
13
4

Explanation:
SI@OIWhY] x =% zT% (5,k) 99 779 = |K]
(2:2) R 09 (5.k) @7 719 = /(5 -2)7 + (k—2)"
=\9+k -4k +4

*mr@ K=\o+1 =4k +4 = K> =9+ K24k +4 = 13/4 =Kk

(1 point)

I d z° 0
de |22 —4|
[M-1.9, JU-Af : 2021-22]

@ B 8x
(a2 — 4)°

8x
(22 — 4)°

2
(22 — 4)°

2
(z2 — 4)°

Explanation:

‘ o W2 o 2 2
d X 2x (x"—4) — X" (2x)
H;;-_xz—ﬁl_ == (x* —4)

2x* — 8x — 2x%° — 8X

T4y R4y




52. (1 point)

2
Ftan_l( IE)W— 9?

1 —2z
[M-1.9, JU-Ag : 2021-22]

2
1+ 22

® 2
1+ z?

1
1+ 422

4
1+ x2

Explanation:
ol 2X a, . dy_ 2
S[®]why|y = tan T Y=t X L= T

53. y=x3 - 2x2 + 4 THLAUE (2,4) fT7ro wige = iF aasisa~ fAtea (1 point)
(FA(B?

[M-1.9, JU-Ag : 2021-22]
() 4x-y-4=0
L x+4y-18=0
@ 4x-y+4=0
) x+4y+18=0

Explanation:

Wh}’ y=x3—2x2+4 L‘]"«H',g}{=3x2—4x
d

(24) frgre, SE=3x4-4x2-12-8=4

SN, y—4=4(x-2)=>y-4=4x-8=4x-y+4=0

54. (1 point)

/;m(sec r + secz tan z)dz dd N[N $O?

[M-1.10, JU-A : 2021-22]
@® ftanz +C
) e®secx + C
() e*secxztanz 4+ O

) seex +C

Explanation:



‘_S[@JWMI e (sec x +sec x tanx) dx = e sec X + ¢

55. 4x2+25y2 =100 BJ G A WAZ CFLAA CFaH 3O I T2 (1 point)
[M-2.6, JU-A : 2021-22]
® 10r
) 4
) 25m
) 1007

Explanation:

iZ 2

O WhY|4x% +25y* =100 = 2= + L=

, 2
:>:;—+1=1 s CROTT =t x 5% 2 =107

(1 point)

[M-1.10, JU-Af : 2021-22]

Explanation:

3
HOmmfRes o

1+x°=2
10
= f —dz=>[1nz] >2dx=dz
X 2 3
=Inl0—In5 =1n2 |z 5 10

(1 point)

- 5x2_gx+3= TNSATTI TFT 0 8 p ZC, — + % A7 IR (FA(B?
a

[M-2.4, JU-Ag : 2021-22]

e | & | o



@
0O 3

Explanation:

S[@®]why 5x2—6x+3=0amfm,(3-qm,a+g=g

atP_

3 1 1
dRof== . —+==
5 oL B B

LHIMIMICJ\

58. 422 — kz + 5 = 0 TSI o7 9F6 T WoAoa ST kK GF TN T2 (1 point)

[M-2.4, JU-Af : 2021-22]

® 3,10

Explanation:

s, T W,2a2=%$az=§8-

. -k
a 9R 2a .. at+2a 1 =>£2_=§ VLE 720
=>3u=5 _ u=£ 144 8 8
; 5 12 = 31/10

1 1 -
9 9.2 _ ge 11 — OSTNIEATT T Z" a @ B XCE— aﬁaﬁwﬁﬁﬁ: gy (L Pomo
Y
CAGILET,
[M-2.4, JU-Ag : 2021-22]

32 —6z+3=0
® :24+6x-3=0
U2 —6z+3=0

2?6z +1=0

Explanation:

Ix'—6x +1 =0=:>3G)2—6><>—1{+1 =0=>%—-}—€+1 =)

—=3_6x+%x>=0 . x*—6x+3=0




60. 12 — 2 — IRIRATATATAI NI HIOA FAIT FO? (1 point)

[M-2.6, JU-Ag : 2021-22]

SBIWhY| y* —x* = 1; ¥R (x,y) = (0, £ b) = (0, 1)

61. 22

1 poin
5+ L 1 Bt ST v e R polg

9

[M-2.6, JU-Af : 2021-22]

Explanation:

X' VR Lo - 20 T
SOV L + =1 ne=n[1-5=Y

L 2

62. o2 ; (1 point)

z o f—ﬁ — 18I S(Bd BT T Hod TS 92

[M-2.6, JU-Ag : 2021-22]
0, £2)
® (+20)
0 (£2v7,0)
(0, £ 27)
Explanation:

2 ) 2

7
L._
E[@]‘_I 1::’\](172)4"%5

P . | .
Vh
( _ L=+
1-——\/76 > - g = (0,£4 x2)=(0,£2)




63. 1 1 f it
taﬂ_](?) —I—tan”l(E) _ 7 (1 point)

[M-2.7, JU-A : 2021-22]

7
® 2r
i %
I
Explanation:
1.2
WhY| tan™ ) +tan™ § = tan™ _ﬁ
1—.=
23
3+2
-1 6 ] ]!
= tan =>tan 1 =>-—
6—1 4
6
64. f(z) = cosz '-'-ﬁ'.?l'f(mt‘l (%))&HWW‘? (1 point)
[M-2.7, JU-Ap : 2021-22]
4
3
@ 3
5
4
5
ol
4
Explanation:
S[BJwhy| f(x)=cosx |
5
-1 § — ol ,3_ — —1 §. — .3. 4
f(cot 4) COS (cot 4) = COS COS 53
3
65. fNTHR (TG ST *137 N2 (1 point)

[JU-Ag : 2021-22]



U Afge
® 2w

Explanation:

S[®]why| Tifge 54 =067 ~ I |
TARMCD, i, CAifde; Jfere oo TS0 @RI |

66. "TRINET' (TN AN STN? (1 point)

[JU-Af : 2021-22]

® Tqiater”
) O EY

Explanation:

SIBIwhy| I + I — SRS TN |

67. 'Delegate’ *TTHA AMfASITS *1H (FHI6? (1 point)

[JU-Ap : 2021-22]

O et
® i

Explanation:

SI®]why| e Delegate — &SI |
e Transcript — &fSfEf | e Dialect— CooaT |

e Diplomacy — $GAIf® |

68. Choose the correct article in the following sentence- (1 point)

He is playing flute.

[JU-AF : 2021-22]



|. -." En

® ihe

Explanation:

Flute 4<6! fAM2 Tvraca@d w9 ©I2 Answer the (T |

69. Find the pair which has same relationship of Bird : 'Ornithology’ (1 point)
[JU-Af : 2021-22]
() Earth : Geography
@® Earth : Geology
) Earth : Biology
() Earth : Antropology

Explanation:

WhY| Omithology =¥ “f%f%m; Geology &¢ geog
of<wIl | €% 8 Option B 9« T4 Same relationship FCACR |

70. 'I know the fact' - Change it into passive voice. (1 point)
[JU-A : 2021-22]

() The fact is known by me
) The fact is being known by me
@ The fact is known to me

) The fact is known

Explanation:

[S[@]WhY| Active Voice (& Passive Voice IS Active Voice
aq object (& Subject IO I +Tense 8 person ST
Auxiliary verb + v; + preposition + active voice 49 object (®
subject $909 Z(J | Known to — #fdfd® I @Il Appropriate
Preposition o4R Answer X< C.

7. (A + B+ C)BC 99 TqAN ST XTAI- (1 point)
[ICT-3, JU-A : 2021-22]
" ABC
. ABC
" ABC
O ABE
@ Blank



Explanation:
SI@Ww|(A+B +C).BC=(A.B.C).BC=A.B.0=0

2. (P AMFPB 16 FLUTEH V0 (F 40 TS BTE FATFT FLA? (1 point)

[ICT-3, JU-Af : 2021-22]

® JNFTIR
- fereR
O 2t

Explanation:

2" —-I Encoderl—n; 24 ——4

73. fATea (I FIG-OIAF G A3F T- (1 point)

[ICT-2, JU-Ag : 2021-22]

" @Y ST AT AT 91T TS AT
) RGP (TR06E STEY 515
® ST IR RO 1% 09

Explanation:

SI@OIwhy| 36T i cefa e s 36 |

7. ZBTATCS PR b ea Tros iy 7o (1 poin)

[ICT-2, JU-Ag : 2021-22]

' 1.5 Mbps
() 4 Mbps
' 3 Mbps
@ 5 Mbps

Explanation:

@ W@ﬁﬁ%@_m 5 Mbps TS |

75 (DADA) 4 (YT (BABA) (VTF T9 (QIB? (1 point)

[ICT-3, JU-Af : 2021-22]



0 (2021)
) (2022) 6
) (8224) 0
) (8021)9

@ Blank

Explanation:

A F - -

SO

O e S ——

N|w O
o P
N O
> >
vo)
i

76. (W TN 99 ST fRTod (FINB TATETT W AN 2 (1 point)

[ICT-5, JU-Ap : 2021-22]

® Ffaw v

L ool wfgawl

Explanation:

S[@Jwny|Machine Learning in seen as a Part of artificial

intellingence.

77. Web browser ZCI FH0- (1 point)

[ICT-1, JU-Ag : 2021-22]

SR (IR

® GG TFEEWE
B 51
GRS

Explanation:

S- WhY| A software application used to access information on
the world wide web is called a web browser.

78. fATEA (N HTML code I8 Fox A1 T2TOTGT 5016 FAF ST ABAEH (1 poin)
value RTTT I73T© TH?

[ICT-4, JU-Af : 2021-22]

" target



® blank
) _new

" herf

Explanation:

[SI@why] 9w
kil

<a target = "-blank" href=" ">
g H_J

UIRRIE
OJI]

Part A : Extra Syllabus

7. 2, /5 A]3 3 WMAA FoAB T (FIN 4T 7o fwas | gar s/g=rg (1 poind)
SIS ST FATH HATNIG IAZCHAT NHTI O (FICTH VN F9?

[M-2.8, JU-Ag : 2021-22]
) 30°
450
) 60°
® 90°

Explanation:

STOIWhY] s e TSt (3, 37 = 224(1[5)+2.2.[5 cosa

= 9=4+45 +4\f§ coso. = cosaa=0 .. a=90°

R T - ~

80. oo (I fHTFO /5 9FF TN G20 SN I0e1d A% $O? (1 point)
[M-2.8, JU-Ag : 2021-22]
SPW:
® /15
10+ (5v3)

10 + 5/3

Explanation:

S(®]Why R=2PC05%=2x\j§cos%Q=2x \B "32E=\IF5



